Chapter 1 REAL NUMBERS
TR3fex Aftmret
gsrﬁvs?; 5 YN (Euclid’s Division Lemma)
faH € UaTSHa AYTs Aftmiet a w3 b BET € fedus uds Aftmet g mi3 r I5 3T A
For two positive integers a and b, there exists unique whole numbers g and r such that
a=bgq+r;0<r<b
MAIEIX a[CEES qﬂvr (Fundamental Theorem of Arithmetic)
IIX I At § BAT g™ Jeaus’ € JEaes € JU 99 et 7 Ager J1
Every composite number can be expressed as product of prime numbers.
WSTH HET (Prime Numbers)
87 Aftmi fAAT € JEa8s JT : 1 i3 Aftnr ye 11
A number which has exactly two factors : 1 and the number itself.
3T HftwT (Composite number)
87 Aftmi fAAT € 3 U JEaEs 9|
A number which has more than two factors.
H & g™ At p, a? ?5%3@'%3*1)@ §e°ré%aﬂ|
If a prime number p divides a? then p divides 'a’ also.
HAZ. X B.AL. = € A @7 JE6e®
HCF X LCM = Product of two numbers
fex ufanw Aftmr niz £ niufare Bftmi T 143 »i3 we§ B ahE nrufana Aftmr Jet I
The sum and difference of a rational and irrational number is always an irrational number.
fea Jafreg ufgre Aftmim vz niufaie Aftm T gEses AT de® fEa aHAT niufgne Aftmi Jet
JI
The product and quotient of a non-zero and irrational number is always an irrational number.
ﬁmﬁwgféﬂq (TJ) T NEH JEaUs 2m X 5" ¥ U 9 T, e m,n yIs Aftmret

M?%%&WW%|

If the rational numbers, the prime factorization of g (denominator) is in the form of 2™ X 5™, where

m,n are whole numbers then s is a terminating decimal.
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12.
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13.

€ UsTSHA AYIS Afdn=t a w3 b Bet € fedddz yIs Aftmet q M3 r I8 M3 a = bq + 1 3
For two positive integers a and b, there exists unique integers q and r such thata = bqg +r
if

0<r<b b) 0<r<b c) 0<r<b d 0<r<b

Fi%s 25 ynfaar = 88y gafess nmdinen & far ursa ffe 3T famr 37
In which book of elements, Euclid Division Lemma is described?
X b) VI c) X d) Vi

far wifto § 3 &% <3T 3 Iot fofrmt RG° faozr wrdlt &t J AaE™?
If any number is divided by 3, which of the following cannot be remainder?
a)o b) 1 c 3 d 2

ot foddint fe5* faadt fARS Aftm™ I? Which of the following is an even number?
4q + 2 b) 3g+1 c) 5q+3 d) 2q+1

It fedort &5 faodt 2t Aftm I? Which of the following is an odd number?
4q + 2 b) 6q c) 2q+1 d) 4q

12 M3 40 T H.A.T. (HCF of 12 and 40)
8 b) 4 c) 6 d) 2

13 M3 29 T H.A.€. (HCF of 13 and 29)

1 b) 2 ¢ 3 d) 0
€ Afg-nrsm Afimet @ HAS. ......... I HCF of two coprime NUMbETS iS ....o..oveereeereerasersreens
0 b) 1 0 3 d) 2

Jot fsfitmit fag faadt At o fearet wix fAee 3 AHUS &t Jer 97

Which of the following number does not have end digit with zero?

4n b) 6" c) 8" d) o=t &dt

. 140 =

2x5%2x7 b) 22x3x7 c) 22x5%2x7 d) 22x5x%x7

156 =

23 x32x13 b) 22x3x13 c) 22x3%2x13 d) 22x3x11

¥ a M3 b € Aftmet g& 3t HCF XLCM = If a and b are two numbers then HCF X LCM =
axb b) a+b c) a—»b da=b

T HCF(306,657) = 9 3t LCM(306,657) = If HCF(306,657) = 9 then LCM(306,657) =
22388 b) 23238 c) 23338 d) 22338



14. 7 LCM(26,91) = 182 T 3t HCF(26,91) = IfLCM(26,91) = 182 then HCF(26,91) =

a) 11 b) 17 0 13 d) 23
15. € AfonsH Rftmet a »3 b ¥ B.H.E. = LCM of two coprime numbers a and b.
a) 1 b) a-»b c) at+b d) ab

16. Jot fofmit f&9" ot niufaRe Hftmm I? Which of the following is an irrational number?
a) (2-v3)+V3 b) (4—+v3)(4+3) ¢ V16 d)

17. f8x d9fAe ufanw Bt »i3 niufaRe Aftmr T I86es IRA ........ Fftprr Jer 3

Product of a non zero rational and irrational number is always a ......c..ccocennnneranene

a) ufgnw (Rational) b) »ufgHw (Irrational)

¢) HUYI& (Integer) d) yfgf3x (Natural)

18. f&x ufana At w3 niufana Aftmr & /53 TAAT .......... Hftprr Jer I
Sum of a rational and irrational number is always .........c.ccocvuverns

a) MUfIRe (Irrational) b) ufgRwr (Rational)

) HYJs (Integer) d) U35 (Whole)

19. It fofimit f&5° foazT At 30t 37 Which of the following is not true?
a) f&x ufonw Rfter »i3 niufoRT Aftnr T 3aes IRET »rUfaRT Rty Jer 3
Quotient of a rational number by irrational number is always an irrational number.
b) € Afons™ Hft™ @7 H.H.2. 1 I1 HCF of the co-prime numbers is 1.
c) fARS »ig™ Aftnm 2 31 2 is even prime number.

d) g fex A’z TAHE= T ghas a terminating decimal.

20. fd&it faAs Aftmr=t »8™ I&5? How many every numbers are prime?
a) 2 b) 1 ¢ 3 d) 4

21. A8 3 221 nig Aft »i3 3/ Hftmm T nigus
Ratio of smallest prime and composite number is ..........cccceeeenues
a) 1:3 b) 2:1 c) 2:3 d 1:2

22. Jot fofamt 25" foog™ A3 TA®= a9t I?  Which of the following is not a terminating
decimal?
3 13 6 29
3 3 b) 25 935 9 35

23, ot fofimit feg® faast niufane Rftmr 39 Which of the following is an irrational number?
a) 3.14 b) 2.121221222... «¢) 5.2347 d) 0



It fefmrt f&5° fagzg™ A &t 3?7 Which of the following is not true?

IIX 3 Aftmr § wigH Aftnret € JEaes K9 TarfenT A7 Ager J1

Every composite number can be expressed as product of prime numbers.
I RS Aftm 4q 7 4q + 2 © U R 7=t 31

Every even number is of form 4q or 4q + 2

gﬂizem-r&—e'%r, Hp g 2™ x 5" ¥ g {9 saAfen 7 AgeT J|

P is a terminating decimal if p can be expressed as 2™ x 5"

q
3 + 2+/5 f¥a miufgnw Aftr 31 3 + 24/5 is an irrational number.

12,15 713 21 @ HAS. weeeeereeeenns J1  HCFof12,15and 21.
3 b) 1 ¢ 5 d) 7

13

125 =
0.94 b) 0.114

23
2352

0.115 b) 0.105 c) 0.117 d) 0.125

Jot fofimit fog* faast wig™ Afth™ 32 Which of the following is a prime number?
221 b) 193 c) 203 d) 111

a9 € Hftoret @ B.AE. 72 T 3t fegst 9" fxazT ot @ HA.T. &dt T AKE?

If LCM of two numbers is 72 then which of the following cannot be their HCF?
12 b) 16 c) 8 d) 24

5005 =
7x11x13x%x17 b) 5Xx7Xx11%x13 «¢) 5x7x13%x17 d) 5x7x11x17




